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N.B. .— (@) All questions are compulsory.

(i1) All questions carry equal marks.

() wd A e s

(i) | YA FEE O 3TRA.

(@)

MCQ 10

On whose recommendation Ryotwari system introduced by company
Government ?

(@)  Lord Reed (b) Lord Clive

(c) Holt Makenzi (d) Lord Cornwallis
FHvT TEREfeET ol THRT Waakl ISd & wheft 7
(@ e s b) e FER

(c)  Biee Hehwsil (d) e HHaTd
Lord Cornwallis started ..................... system.

(a) Subsidiary Alliance System
(b)  Dual Government System
(c) Ryotwari System

(d)  Permanent System

P.T.O.
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(@) O IS ggdl

(b) TgRU A A

(€) TRl dgd

(d) REFHYN Ygd

Who made English langauge as a medium of education ?
(@) Lord Macaulay

(b) Lord Curzon

(c) Lord Charles Wood

(d)  Lord Cornwallis

SUS wToren fierome e o aFfat 2

(@ @S A (b) e HEH

) e = I8 d) S g
When did the Hunter Commission found ?

(@) 1882 A.D. (b) 1946 A.D.
(c) 1846 A.D. (d) 1887 A.D.

T AN TUA] shegl v STl ?

(@) 3.49. 1882 (b) =¥ 1946

(¢c) B4 1846 (d) 349 1887
Balshastri Jambhekar started .............. weekly Newspaper.
(@)~ Prabhakar (b) Darpan

(c) Maratha (d)  Sudharak
BT STRIAT oo T WIifesh ga9 Hied.

(@) T ®)  TUw

(c)  HUdl (d) gath
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(i) The Hindu Newspaper was published in ............. Gty
(@) Madras (b)  Lahore
(¢0  Mumbai (d)  Calcutta
fo fig & quym e Froe o
(@) HsH (b)  TMER
(© (d)  FHew

(vii)  Which country started industrial revolution ?

(@ France )  England
(0  Germany (d) USA
3N Shidi= GEaTd hIoel IS el 2

(@ b) T

(c) T d) JTET

(viit) Which one of the following is the main reason for the decline of the

small scale industry in India ?

(@)  Imports things from England
b) Growth prizes

(e) More benefits from agriculture

d) Increase of taxes

ARATA g Sl 9qd & 9@ R0 Bd :
(@ TS TYF A 9%

(b)  ferwmdl wed 4@

(¢) It HYA HaAlEeh R

(d) = de

P.T.O.
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(zx)  Where did Nanasaheb Peshwa revolt in 1857 revolt ?
(@) Kanpur (b)  Nagpur
(¢ Oudh (d)  Jhansi
1857 =41 3I3MEd AHMERsl UM <hid I3 hell ?
(@ MY (b) T
¢  ohy (d)

() What was the immediate reason behind the mutiny of 1857 ?
(@)  Cartridge covered with fat
(b)  Dissatisfaction of people
(c) Policy against British
(d) None of the above
3.9. 1857 =T 3@ dlhIcld hIX0 hivd  ?
(@  FEgH hTEqd (b) A STEA

(¢ Tofeemfodieh o (d)  amueRt TR
Theory

Explain the Ryotwari system.

WA Tgd T .
Or
(fenam)
Describe the education system of Charles Wood.
aed g fuem ggdi= 9w
Write in detail the effect of Deindustrialisation of British.
fafesten sTgnfitetom wfaw gfome fore.
Or
(fenam)
State the causes of uprising of 1857.
1857=1 IJEM=E HRI EHTI.
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4, Write short notes on (any two) : 10

@) Permanent settlement system

(i) Press

(i11)  British trade

(tv)  Effects of uprising of 1857.

dqrem fem fag (Fv@EmE & )

@) hIIHEN Jgd

@ T

@ii)  Tofewrrrea =mR

(Gv) 18571 I3ETE UROMH.
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